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o IEFEEE  WKZS-X 25 - 525 (—#%) o ERAME T-14
o HI o <tk 250 x L x 25 o EFEIR 150 mm
o FHAMA®E EETER o X714 73— WXI-25x5x3. 5
HFEEE
o IHE & NTUY TN —
- P& i — i P = 56 kN - EyF Po= 15 mm
- EHEEZRE i = 04 -WEES O Z = 381 md
- EBEEELWE P; = 178.4 kN
- HEIEHh TR axb =200 mm x 500 mm
- X FE ER Q= 200 mm
cRF7YUGNR—FRAFERE L4 = 200 mm
W OEEHE
CRTFTYGN——KREBEHMPLE L THET S,
=NV | o, = 0.180 kN/mm’
W
T Q1 1
e HHIFE—A b M
~ PixPg
- axb
78.4 x 15
W —200—)(500— 0.012 kN/mm
M =%xw x 2 x (20— 21 ) (>0 0,=0)
=%x0.012 x 200 x (2 x 200 — 200 )
= 58.8 KkN-mm
ol Hh: o
M 58.8
—_————=—— = <
o 7 28] = 0.15 kN/mm2=ob
LROBRELYBHEHERET 5. T T DaADTL—F 17
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o IEFREEE  WKZS-X 25 - 525 (13/3%-) o BERAWE T-25
o HI B <tk 250 x L x25 o JEFHiEIE 150 mm
o [FRRZE 1 ER o X714 /8 -WXI-25x5x3. 5
[ % & %]
«HE o XY TN
* 1% i — Wi A T P = 100 kN CEwF Po= 15 mm
- BEERH i = 0.4 CWEFRSE Z = 381 mn
- HEEZEELRE P, = 140.0 kN
- BEE R axb=200 mm x 500 mm
- X EEERE 0= 150 mm
s RTYUGNR—AARERE 4 = 200 mm
CRTYDGN——KREHEMRLE L TEHET S,
- BN Op = 0.180 Kk N/mm?
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_ PixPy
W= axb
1400 x 15
W _W_ 0. 021 kN/mm

M=%><W x Qo x (20— 21 ) (0>08 0,=20)

= 50,021 x 150 x (2 x 150 — 150 )

8
= 59.1 kN-mm
ok Hh: O
o =%=%'=. 0.16 kN/mm2=cb
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